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- Economics- Sectors of Indian Economy

Core concept and pg No - Employment senario in India , Pg 25

Expected outcome- Analysing which sector of the Indian economy can generate more
employment in future.

Topology- Data Interpretation, Tabular form

Q1.The table given below highlights the percentage of workers in the three sectors of the
economy in India. The data for the year 2023 has actual figures while the data for 2040 is
hypothetical based on the published figures of the year 2023.

Any of the three hypothetical scenarios could be possible in the year 2040.

Study the table carefully and answer the questions that follow.

Year Primary Secondary Tertiary

2023 (source:

Statista)
44% 25% 31%

2040

(Hypothetical
Scenario: 1 ) 20% 45% 35%

2040

(Hypothetical
Scenario: 2) 60% 20% 20%

2040

(Hypothetical
Scenario: 3) 15% 40% 45%




With all other factors remaining the same, which of the following scenarios would have the
biggest impact on India's global leadership in the future?

A. only Hypothetical Scenario 1
B. only Hypothetical Scenario 2
C. either Hypothetical Scenario 1 or 2
D. either Hypothetical Scenario 1 or 3

ANS1 : D. either Hypothetical Scenario 1 or 3

- Core concept and pg No- Disguised unemployment in primary sector. Pg- 28

- Expected outcome- Students will be able to identify the role of government in
generating more Employment in Rural India to solve the problem of disguised
unemployment.

Topology- Identify

Q2. As a village Sarpanch, which one of the following activities is not likely to be

adopted to solve the problem of underemployment by you?

A. Identify and locate industries that process vegetables, rice, wheat etc. near the
village

B. Identify the surplus youth working in fields. The youth are compelled to migrate to
cities.

C. Request State Govt to provide irrigation facilities by constructing a network of canals

D. Provide easy and cheap loans to small and marginal farmers for timely purchases

ANS2: B. Identify the surplus youth working in fields. The youth are compelled to
migrate to cities.

- Core concept and pg No- Share of three sectors in GDP, Pg 25

- Expected outcome- The students will understand the rising importance of the Tertiary
sector in terms of share in GDP.

Topology- Interpretation of the Graph

Q3. Observe the graph given below:



Graph 2 : Share of Sectors in GDP (%)
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Which of the following statements BEST explains the graph?

A. The production in all the three sectors has decreased and it has decreased the most in
the primary sector.

B. The production in all the three sectors has increased and it has increased the most in the
primary sector.

C. The production in all the three sectors has increased and it has increased the most in the
tertiary sector.

D. The production in all the three sectors has increased and all the three sectors have
similar growth.

ANS 3: C. The production in all the three sectors has increased and it has increased
the most in the tertiary sector.

- Core concept and pg No- Organised sector, Pg. 30
- Expected outcome- To be able to analyse the terms of employment in organised sector
Topology- Understanding

Q4. Which one of the following steps would guarantee the welfare of the employees in the
organised sector?

P. payment of equal remuneration to men and women at the workplace.

Q. protection of the employment of women during the time of maternity.

R. prohibition of child marriage and providing relief to victims.

S. payment of a one-time bonus to all retired employees

OPTIONS:
A. only Pand S
B. only P, Rand S



C. onlyP,Qand S
D. all-PQ,Rand S
ANS 4-C.onlyP,Qand S

- Core concept and pg No- Growing importance of tertiary sector, 25
- Expected outcome- Not all service sector is growing equally
Topology- Assertion Reasoning

Q5. The following question consists of two statements. Assertion (A) and Reason(R) . Read
the statement and choose the appropriate option.

Assertion (A) : Rakesh is an educated and skilled worker who earns a high monthly salary
as he is employed in a private bank in a city.

Reason (R) : All sectors in India are growing extremely well and each individual engaged in
any kind of tertiary service earns a high income.

A. Both A and R are correct and R is the correct explanation of A.
B. Both A and R are correct and R is not the correct explanation of A
C. Aiis correct but R is wrong.

D. Ais Wrong but R is correct

ANS5: C. A is correct but R is wrong.

- Core concept and pg No- Sectors in terms of Ownership, Pg 33

- Expected outcome- To identify the importance of Public sector

Topology- Case study based

Q6. Read the following extract/ source carefully and answer the following

questions: 1+1+2=4m

Another way of classifying economic activities into sectors could be on the basis of who
owns assets and is responsible for delivery of services. In the public sector, the government
owns most of the assets and provides all the services. In the private sector, ownership of the
assets and delivery of services is in the hands of private individuals or companies. Railways
or post offices are an example of the public sector whereas companies like Tata Steel
Company Limited (TISCO) or Reliance Industries Limited (RIL) are privately owned.

6 .1. Give one difference between the public sector and the private sector.

6 .2 Post Office is an example of public sector as:



a. It is controlled and managed by the government.
b. It offers courier service to the public.

Choose your answer from the option given below.
A.. Both (a) and (b)
B. Only (a)
C. Only (b)
D. Neither (a) nor (b)

6.3 Give two reasons stating the importance of public sector activities for the economic
development of the nation.

ANS: 6. 1. a)Public sector is controlled and managed by the government. Its main aim
is to provide services to the people at a reasonable cost.

b) Private sector is controlled and managed by an individual or a group of individuals.
The purpose of this sector is to earn profits.

6.2. B. Only (a)

6.3. a) Construction of roads, bridges, dams etc. needs heavy expenses which is
beyond the capacity of the private sector.

b) Providing health and education, clean air and water is the primary responsibility of
the government.



